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m BrEm  FH OHE | HEm FH O HE | HE  FH | #E
NO. 0 0.0 | 1.04 1.02 0. 056
+1.95 2.0 [ 1.17 1,105 215 | 1.37 1.195 2.33 | 0.051 0.0535 0.104
+6.15 4.2 (1.06 1.115 4.68 | 1.05 1.210 508 | 0.061 0.0560 0.235
+15.15 9.0 | 1.06 1.060 9.54 | 1.05 1.050  9.45 | 0.061 0.0610 0.549
&t 15.2 16.37 16. 86 0. 888
B (MEREEY)
A=16.86 + 2.10 = 18.96m2
RETHEFGHEE
smag | Rl ST wgw Bf 3
PP 18-8-40 HE
i BrEm TN HE | HEm T HE | HE T #E
NO. 0 0.0 [ 0.00 2.13
+1.95 2.0 [0.18 0.090 0.18| 2.12 2.125 4.14
+6.15 4.2 1001 0095 0.40| 217 2.145 9.01
+15.15 9.0 | 0.01 0.010  0.09 | 2.17 2.170 = 19.53
&t 15.2 0.67 32.68

R—=J4>varvy)—+F
V = 32.68%0.05 = 1. 63m3
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18-8-25(20) {0.650 X 1/2(0.558+0.663) —0.350 X 1/2(0.408+0.513) } X 1.800
+1/2(0.513+0.450) X 0.150 X 2X0.200 0.453 m3
Tl e
NUREEY) 1/2(0.558+0.663) X 1.800 X 4+1/2(0.513+0.450) X 0.200 X 4 478 m2
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RC-40 t=100mm 0.750 % 1.800 1.35 m2
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(I%ﬂfﬁiﬁ@) 3.00 m2
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AR Y— b 7.97
el i A X B &
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18-8-25(20) 0.08 X 6.6 0.53 m3
TR ([T Yk
B ORI 0.3X6.6 1.98 m2
R
UG AR 0.263X6.6 1.74 m3
T AN —KF
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18-8-40 1/2(0.400+1.195) X 2.650 X 4.000—-1/2 (0.505+0.400) X 0.350 X 0.350 8.40 m3
AR
A S {2.650+ (2.650 X 1.044)} X 4.000+1/2(1.195 X 2.650) X 2+
1/2% (0.505+0.400) X 0.350 X 2+0.350 X 0.505—
0.350 % 0.350 X 2 25.1 m?2
JEE A
RC-40 t=200mm 1.395 X 4.200 5.86 m3
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A-400%400 t=1.6mm 1.00 m
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18-8-40 1/2(1.056+0.627) X 1.430 X 1.000-1/2 (0.856+0.487) X 1.230 X
0.600-0.408 X 0.200 X 0.600 0.66 m3
Tl e
NUREEY) 1/2(1.056+0.627) X 1.430 X 2+1.000 X 1.430+
1/2{0.856+(0.627-0.200) } X 1.430 X 2+0.600 X 1.430+
{(0.408+0.600) X 0.200} X 2—0.408 X 0.600 X 2 6.44 m2
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RC-40 t=150mm 1.100X0.577 0.63 m2
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